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SOLVED PAPER

-SET
SSC

(CGL) TIER-II EXAM

Held on : 25.10.2015 (Test Form No. 10996g;,
Directions (5-8) : The following graph shows production (in the,
PAPER-| sands) of two types (P and @) of vehicles by a factory over the years 29q
QUANTITATIVE ABILITIES | | to 2014. Study the graph and answer the given questions.
1. Awverage of nnumbers is a. The
first number is increased by 2, -
second one is increased by 4, 300 i 275 275
the third one is Increased by 8 W 275 —8—TypeQ

and so on. The average of the
new numbers is

E

225
225

|
.E
2“—[ JTE; I. » 200
-y é i [N 175 175
‘é 150
an_
@ a+2 B 12T joo
s 100
it ¢ 75
Fa+ g 50
25
e 0 b : g t } —
4a+ 2009 2010 2011 2012 2013 2014
J___ J___ Years
13 + 411 1
2. Letx= m y= o B. In how many of the given (1)48: 41 (2)5:8
i s 3 years, was the production of (318:5 (4) 41:48
e By + 3y Type Pvehicles of the company | . The production of Type @ ¥
(1) 1717 (2) 1177 more than the average produc- hicles in 2010 was approc
ton of this type vehicles in the mately what percent of Type?
s el 117 Fiven yeara? vehicies In 20147
3. A sum of Rs. 7,930 is divided (s (2) 4 meo (2455
into three parts and given on (3) 2 (4) 5 (3) 54.5 ' 4175
loan at 5% simple interest to 8. A : P
A,BandCfor2, 3and 4 years | 9 APproximate percentage de- | 10.A man starts from a plw?
respectively. I the amounts of crease in production of Type Q and reaches the place @10
all three are equal after their vehicles from 2010 to 2011 is 1
respective periods of loan, then (1) 10.1 2) 18,7 hours. He travels - th of ¢
A received a loan of 13) 14.3 14) 12.5 i en fhour gnd
(1) Rs. 8,050 7. The total production of Type P “:““'x i distance 8t 1
(2) Rs. 2,760 vehicles in the years 2009 and e i
(3) As. 2,750 2011 is what percent of total T J'rhupu_l'- 4 Eh
(4) Rs. 2,800 production of Type @ vehicles Gt i O
4. Anumber when divided by 361 o 147 (3) 80km  (4) 70 km
gives a remainder 47. If the (1) 75 (2) 69.25 11.In triangle ABC, DE |l i
same number is divided by 19, (3) 80 (4)81.25 where D is a point on AB#"
the remainder obtained is 8. The ratio of total production Eis a point on AC. DEﬂﬂ‘ﬁ
(13 (2) 8 of Type P vehicles to total pro- the area of A ABC ‘"ﬂﬁ ﬂ
(3)9 (4) 1 duction of type @ vehicles over equal parts. Then DB
the years is equal to
e = ————— STNE-618 wf
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- . metre from 18 foot and makes

w 43 ¢ (2+1) 2 22 an angle of 30° with the Torl
5 gontal. Then heigh

@ 42 ¢ {E*l] g metres] of the telegraph post

(3 23 hours is ok
=1) (1) 30

@ (Z-1): 3 o 1 i ws
g hours 22, Three Sclence classes A, B

H] I:ﬁ-”} 2 . ¢ take a Life Seience test. The

! 12, Rarn sold bao horses al the
game price. In one he gets a
t of 10% and In the other
he gets a loss of 10%. Then
Ram gets
(1) 2% loss
(2} Mo loss or profit
(3) 1% loss  (4) 1% profit
15.ftan B =cot B =0 and 6 is
positive acute angle, then the

tan{d + 157)
value of tan(® - 15°) is

1
m 8 @ T
1
® 3 @ J3

14, In A ABC #BAC = 80" and AD
LBC.MBD = 3 em and CD =
4 em. then the length of AD
is
(I 35em (2)5em

{8 2,3 em (4) 6cm
15. A and B have their monthly
! mecomes in the ratio 8 : 5, while
J their monthly expenditures ane

in the ratio 5 : 3. If they have
saved Rs, 12,000 and Rs.
P 10,000 menthly res '
then the difference in Lhelr

manthly incomes 15

(1] Rs. 52,000

(2) Rs. 42,000

(3 Rs. 44,000

[4) Rs. 48,000
18, Pipe A can fill an empty tank

In & hours and pipe B in 8

hours. If both the pipes are

9pened and after 2 hours pipe-
tﬂ'; tlosed, how much Hmﬁﬂi

take to fill the remaind
langke

i T

O TR T

1

# w

17. A right prism has a triangu-
lar base whose sides are 13
em, 20 cm and 21 cm. If the
altitude of the prism is 8 cm,
then its volume s
(1) 1314 cm? (2) 1134 om®
(3) 1413 cm? (4) 1143 enr?

1.0 (3x- 21 : (22 + 3y} =5: 6,
then one of the values of

=+
X =iy i

1
(& 215
1
(3) 25 [ﬂﬁ
18, Articles are marked at a price

which gives a profit of 25%. After
allowing a certain discount the

1
praflt reduces o 12-5% . The

discount percent 18
(1) 10.1% (2} 10%

(=) 12 %“K:- [4] 12%&

20. The portion of a ditch 48m
jong., 16.5 m wide and 4 m
deep that can be filled with
stones and earth available
during excavation of a tunnel,
cylindrical in shape, of diam-
eter 4 m and length 56 m is

232
[THJ“‘-I:--_?—-J
1 1
(1) o Part (2) 7 Part

2 1
(@) g Part (4) g Part

. A telegraph post s bent &t a
iy ctahmtﬂ:l:grnund due to

starm. [ts top just touches the
ground at a distance ol 10 3

average score of class A is B3,
The average score of class B
is 76. The average score of
class C 1a 85. The average
score of class A and B I8 79
and average score of class B
and € 15 81. Then the average
score of classes A, Band C s
[1}) BLE (2) 81
(3) 80.5 (4] B0

23. A sum of money placed at com-
pound interest doubles itsell
in 5 years. It will amount to
eight times of itself at the
same rate of interest in
(1) 20 years (2) 10 years
(3) 12years (4] 15 years

24, A and B can do a given plece off
work in B days, B and C can do
the same work in 12 days and
A, B, C complete it in 6 days.
Mumber of days required to fin-
ish the work by A and C is
(1) 16 [2) &8
(3] 12 [4) 24

28. A sum of money is pald back
in two annual instalments of
Ra. 17, 640 each, allowing 5%
compound interest com-
pounded annually. The sum
bormowed was
(1) Rs, 32.800
(2) RBs. 32,200
[3) B=. 32,000
{4) Rs. 32,400

26. If 90 men can do a certain job
in 16 days, working 12 hours
per day, then the part of that
work which can be completed
by 70 men in 24 days, work-
ing 8 hours per day is

(1) (2)

(3) (4)

o~ o]
mlen  waje

J
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27. A man purchases some or-
anges at the rate of 3 for Rs.
40 and the same quantity at
5 for Rs. 60. If he sells all the
oranges at the rate of 3 for Rs.
50, find his gain or loss per-
cent (to the nearest integer).
(1) 32% profit
(2) 31% loss
(3) 34% loss
(4) 31% profit

28. Let x be the smallest number,
which when added to 2000
makes the resulting number
divisible by 12, 16, 18 and 21.
The sum of the digits of xis

(17 (2)5
(3) & (4] 4
28. The value of
cot 41°, cot 42° . cot 43°. cot 44°.
cot 45° . cot 46° . cot 47° . cot

48° . cot 49°

(1) 1 (2o
J3 1

@y @z

30. If O is the circumcentre of a
triangle ABC lying inside the
triangle, then £OBC + £BAC

is equal to
{1) 80° (2) 60°
(3) 1107 {4) 120°

81.If¥=asin 8- bcos B,
y=acos 0+ bsin 8, then

which of the following is true?
2 a2 '

(1) y_”- +?=I

(2) 2+ =a-F

(3) ~:—:'+§=I

(4) 2+ P=a*+ P

32. A man sells an article at 5%
above its cost price. If he had
bought it at 5% less than
what he had paid for it and
sold it at Rs. 2 less, he would
have gained 109. The cost
price of the article is
{1) Rs.200 (2] Rs. 400
(3) Rs.300 (4)Rs. 100

33. P and @ together can do a job
in 6 days. @ and R can finish

60
ﬁmsamc}nhtnw_? days. P

started the work and worked
for 3 days. @ and R contin-
ued for 6 days. Then the dif-
ference of days in which Rand
P can complete the job Is
(1) 15 (2) 10
(3) 8 (4) 12
34. The H.C.F. and L.C.M. of two
numbers are 21 and 84 respec-
tively. If the ratio the two num-
bers Is 1 : 4, then the larger of
the two numbers is
(1) 12 (2) 108
(3) 48 (4) 84
38.1f60% of A=30% of B, B =
4056 of C, C = 486 of A, then

value of x Is
(1} 200 (2) 500
(3) 800 (4] 300

986. In an office, 40% of the stafl
is female. 70% of the female
stall and 50% of the male stafl
are married. The percentage of
the unmarried staff in the of-

fice is
(1) 64 (2) 60
(3) 54 (4) 42

87, ABCD is a cyclic quadrilat-
eral. AB and DC when pro-

duced meet at P, if PA = 8 em,
PB = 6 cm, PC = 4 cm, then
the length [in cm) of PD is
(1} Bem (2) 6 cm
(3) 10em  (4) 12 cm
38.A and B are centres of two
circles of radil 11 cm and 6
cm, respectively. PQ is a di-
rect common tangent to the
cireles. If 45 = 13 cm, then

length of PQ will be

(1) 85cm (2] 13cm
(3) 12cm (4) 17 em

39, The diameter of each wheel of
a car is 70 cm. If each wheel
rotates 400 times per minute,
then the speed ufpthe car (in

km/hr) is [Takr.- n= %J

(1) 0.528 (2) 528
(3) 52.8 (4) 5.28

40. Water tax is increased by 20%
but its consumption is de-
creased by 20%. Then the in-
crease or decrease in the ex-
penditure of the money 1s

(1) 5% decrease
[2) 4% decrcasc

(3) No change
(4) 4% increase

1
-!I E‘Cu- BB i 1
41.11 8 tan 5 th
value of sec 0 . tan 0 is

2 2
(1) 3 (2) 3
4 1
(3 '.]5 (4) 73

42, A car covers four successive 7
kkm distances at speeds of |
km/hour, 20 km/hour, 30 km/
hour and 60 km/hour respec.
tively. Its average speed over
this distance Is
(1) 30 km/hour
(2) 20 km/hour
(3) 60 km/hour
(4) 40 km/hour

43, If 64 buckets of water are re-
moved from a cubical shaped
water tank completely filled

1
with water, 3 of the tank re-

mains filled with water. The
length of each side of the tank
is 1.2 m. Assuming that al
buckets are of the same mei-
sure, then the volume (in k-
tres) of water contained by

each bucket is
(1) 12 (2)16
(3) 15 (4) 18

44. The centrold of a AABCis G
The area of A ABC is 60 cm
The area of AGBC is

(1) 10em®  (2) 30cm’
(3) 40cm*  (4) 200’ ;
45. The base of a right irihe

a square of side 10 cm- 1
height of the pyramid
cm, then its total surface ™
is
(1) 400 cm?  (2) 460 e’
(3) 260 cm®  (4) 360 ¢ S
46. 60 kg of an alloy A 1S e
with 100 kg of alloy B &0
A has lead and tin in ¢
tio 3 : 2 and aunfrfmhf:J.
and co in the
the mn;n:l:trt of tin 10 m"ﬁ
alloy is

= S
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|
~~53ke (2144 kg
(3) 80 kg (4) 24 kg
lw_[fﬁmﬁ-F 12 8in 0 = 13,

gin 8is
5 12
(1) 13 (2) -is
6 12
@ 13 @3

48. In trapezium ABCD, AB | |cD
and AB = 2CD. Its diagonals
intersect at O. If the area of
AAOB = B4 cm?, then the areg
of ACOD is equal to
(1)72em® (2] 21 cm?
(3)42cm® (4] 26 em?

40. Quadrilateral ABCD is cir-
cumscribed about a circle. If
the lengths of AB, BC and CD
are 7 cm, 8.5 cm, and 9.2 cm
respectively, then the length
{in cm) of DA is
(1) 7.7 (2) 16.2
[3) 10.7 (4)7.2

B0. In a school there were 1554 stu-
dents and the ratio of the num-
ber of the boys and girls was
4: 3. After a few days, 30 girls
joined the school but a few boys

: left; as a result the ratio of the

| boys and girls became 7 : 6. The

number of boys who left the

; school is
i (1) 76 (2) 74
(3) 84 (4) B6

51.Given that the ratio of alti-
tudes of two triangles is 4 : 5,
ratio of their areas is 3 : 2. The
ratio of their corresponding

bases is
(1)8: 15 (2) 15: 8
(35:8 [4)8:5

i BLIfA:B=2:3andB:C=3:
: 7.thenA+B:B+C:C+Als
| Na:8:9
| 2)5:8:9

(3)5:10:0

4 4:10:0

I h.]fn___l
{ a-3

= 5, then the

1
i T

(1

2)7
(3) 2 (2

(4) 14

I
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(0.67x 067~ 1067%033) - pa3 X033 1®

(1) 11 2 1.1
g 0d (4) 0.34
" n'lE E'Catcst hE
35-'" 4«“1* 50 mggﬂ is ¥, B
[1} o |:2] 4w
() 5 (4) 6=

B8. The interjor angle of a regular
Polygon exceeds its exterior
angle by 108°, The number of
the sides of the polygon is
(1)12 (2) 16
(3) 14 (4) 10

B7. The area of an isosceles tra-
pezium is 176 cm? and the

2
height ts 71 th of the sum of

its parallel sides. If the ratio
of the length of the parallel
sides Is 4 : 7, then the length
of a diagonal (in cm) Is

(1) 28 2 J137
B)2 a7 (4)24
LS 1
B8. If [ ;;;‘f': ]3 {i:‘:;.]" i

g®, then the value of a + b,
where p and g are different
positive primes, s
(1) -1 2) 2
(31 (4) 0

B0. Three glasses of equal volume
contains acid mixed with wa-
ter, The ratios of acid and wa-
terare 2:3, 3:4and 4:5
respectively. Contents of these
glasses are poured in a large
vessel, The ratio of acld and
water in the large vessel is
(1) 411 : 540 (2) 401 : 544
(3) 417 : 564 (4) 407 : 560

60. There would be a 109 loss, if
rice is sold at Rs. 54 per kg.
To earn a profit of 20%, the

price of rice per kg will be

1. The average of five consecutive
E jtive integers is n. If the

next two integers are also in-

cluded, the average of all
these integers will
(1) increase by 1.5
(2) increase by 1
(3) remain the same
(4) increase by 2

82. If a hemisphere is melted and
four spheres of equal volume
are made, the radlus of each
sphere will be equal to

1
(1) s th of the radius of the

hemisphere
(2) radius of the hemisphere

1
(3) 2 of the radius of the
hemisphere

1
(4) B th of the radius of the

hemisphere

B63. If a shophkecper wants to give
20% discount on a toy, he has
to sell it for Rs. 300. If he sells
it at Rs. 405, then his gain
percent is
(1) 5% (2) 4%

(3) B% (4) 6%

64. The average age of 30 students
of a class is 14 years 4 months.
After admission of 5 new stu-
dents in the class the average
becomes 13 years 9 months.
The youngest one of the five
new students i 9 years 11
months old. The average age of
the remaining 4 new students
Is
(1) 11 years 2 months
(2) 13 years 6 months
(3) 12 years 4 months
(4) 10 years 4 months

65. AD is perpendicular to the
intermal bisector of ZABC of
4 ABC. DE is drawn through
D and parallel to BC to meet
AC at E. Il the length of AC 1s
12 em, then the length of AE
(in em.) is
(1) 3 {2) 8
(3) 4 (4} 6

66. The unit digit in the product
(2467)"% x (341)2 s
(1) 7 (2)3
(3) 9 (4) 1

[ STNE-619
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67. There is a wooden sphere of

radius 6 /3 cm. The surface

area of the largest possible
cube cut out from the sphere
will be

(1)864 cm® (2) 464 f3 cm?

(3)462cm® (4) 6463 cm®
B8.If a+ b=1, find the value of
o + b* - ab - (& - FP.
(1) -1 (2) 1
30 (4)2
88, If 7sin®® + 3cos?0 = 4, then the
value of tan 0 is (0 is acute)

1 1
mypE aF
@45 @l

70. A cylinder with base radius 8
cm and height 2 cm is melted
to form a cone of height 6 cm.
The radius of the cone will be
(1) 6 cm (2) Bem
(3) 4 cm {4) 5cm

71. The perimeter of a rhombus is
60 cm and one of its diagonal
{s 24 cm. The area of the
rhombus is
(1) 108 sq. cm.

(2) 216 sq. cm.

(3) 432 sq. cm.

(4) 206 sq. cm.

1 1 l

72¢Ifl:t+s' =h+ "E=e+ =

where a # b 2 ¢ 2 0, then the

value of a® P ¢ is

(1)-1 (2) abe

{3) 0 41

73.A, B and C can do a work
separately In 16, 32 and 48
days respectively. They started
the work together but B left

off B days and C six days be-
fore the completion of the
work. In what time is the work

finished?
(1) 10days (2) 9 days
(3) 12 days (4] 14 days

74.Two blends of a commodity
costing Rs. 35 and Rs. 40 per
kg. respectively are mixed in
the ratio 2 : 3 by weight. If one-
fifth of the mixture is sold at
Rs, 46 per kg and the remain-

———————— STNE-620

ing at the rate of Rs. 55 per
kg. the profit percent is
(1) 50 (2) 30
(3) 40 (4) 20

78. The value of (cosec a - sin a)
(sec a - cos a) (tan a + cot a)

is
(1)1 (2)6
(32 (4] 4

76. I (-1 : (E+xy+fl=5:1
and (¥ - ) : x-h=7: 1L
then the ratio 2x : 3y equals
1 4:1 212:3
(3) 4:3 (4)3:2

77. If a man walks at the rate of 5
km/hour, he misses a train by
7 minutes. However if he
walks at the rate of 6 km/
hour, he reaches the station
5 minutes before the arrival
of the train. The distance cov-

ered by him to reach the sta-
tion is
(1) Bkm (2) 7 km

(3) 6.26km (4) 4 km

78. A plane divides a right circu-
lar cone into two parts of equal
volume. If the plane is paral-
lel to the base, then the ra-
tio, in which the height of the
cone is divided, is

Mmi:3z @1:2
31:37 +1(411:32 -1

p 0 1 1
I aTia3'y=a%-a3
then value of (¥ - 21 -1) +
-2+ 1) is
(1) 16 (2) 12
(3) 12 (4) 14
80. A dealer fixed the price of an
article 40% above the cost of
production. While selling it he
allows a discount of 20% and
makes a profit of Rs. 48. The
cost of production (in Rs.) of
the article is
(1) 360 (2) 420
(3) 320 (4) 400
81. The simple interest on a sum

8
of money is Eufthc sum. If

the number of years is numeri-

cally half the rate percent per
annum, then the rate percent

per annum 1s

(1)5 (2)8

1
@67 (4) 4

82.11 & + !u':+21="q:'+.yz+zx‘
then the value of

3x* +7y* + 524
Bx2y” + Tyo2> +322:2 18

(1) 2 (2)1
(3o (4) -1

83.1f x-/3-J2=0 and y.
J3+J2 =0, then the valu

of {Iﬂ -25‘.’-2‘]— (ya +2ﬂ‘6)u
mno (2)1
@3 (42

B84. Two places P and Q are 162
km apart. A train leaves P for
Q and simultaneously an-
other train leaves Q for P, They
meet at the end of 6 hours.If |
the former train travels 8km/ |
hour faster than the other, |
then speed of train from Qs

5
(1) IE.E km/hour

5
(2) m-b: km,/hour

1
(3)9 2 km/hour

1
(4) EE km/hour

BE. 17 3(c? + b7 + &) = [a+ b+ &
then the relation between &
band cis
(1) azbzc (2)a=b#*¢
(3) azb=c (4)a=b=¢

86.The radii of two solid jraf
spheres are 1 cm an
respectively. A hU-UUW"Ph;
is made by melting ﬂirgw
spheres. If the externa
of the hollow sphert iscﬂ?ﬂ“
then its thickness (i
(1) 2 (2) 1.5
(3) 0.5 (4) 1

87.In an examination Fi
marks nhtain:db}'*hﬂ
a class is 85 and the Iﬂ"J
marks obtained bﬁ"ﬂ“wﬁ"
the same class 15 87.

|
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" and boys are in the ratio a3 of work in
a - There ts a number consistingof | 99. Aand B candoa plece
81 5‘5 [Eﬂ TR of the two digits, the digit in the units’ 30 and 36 days respectively.They
e place is twice that in the tens the work together but A
RlopeRs 0 place and 1f2 be subtracted from left after some days and B fin-
(1)85.9 (2) 86.1 the sum of the digits, the ished the remaining work in 25
(3) 86.4 (4) 86.5 days. After how many days did A
gg. I sin A + sin?A = 1, then the difference 1s equal to lmofﬂm leave?
value of cos®A + cos'A is 6 (1) 10days (2] 6days
2 E‘l'-;r;:mﬂunmm (3)5days  (4) 11 days
1z @17 . A boat moves downstream at
3 (3) 24 (4) 23 190 1
84. AB and CD are two parallel = -
1 P te of 1 km in 7= min
3 I‘E (4)1 chords of a circle of lengths 10 b 2
cm and 4 cm respectively. If the utes and upstream at the rate
g0. The marked price of a tape re- chords are on the same side of of 5 km an hour. What is the

corder is Rs. 12, 600, A festi-
val discount of 5% is allowed
on It. Further for cash pay-
ment, a second discount of 2%
is given. The cash payment, is
to be made for buying it, is
(1) Rs. 11,703.60
{2) Rs. 11.730.60
(3) Rs. 11,370.60
{4) Rs. 11,073.60

B0. Let x be the least number,
which when divided by 5,6, 7
and 8 leaves a remainder 3 in
each case but when divided by
9 leaves no remainder. The
sum of digits of x is

(1) 21 (2) 22
(3) 18 (4) 24
B1. The value of
1
4~ i is
1+ i
a+ I
24—
4
1 1
(1) 8 2) 52
1 1
(3) e (4) T

82.4 manufacturer fixes his
selling price at 33% over the
tost of production. If cus:ntg
Ft'-"d'l-lﬂﬂungues up by 12%
Manufacturer raises his selling
Price by 1096, his percentage
Profit ig

3 5
28596 (2)305 %

5
“"}Eﬁg% (4) 35%

-

the centre and the distance
between them is 3 em, then
the diameter of the circle is

(12 Ja1em. (2) J27em.

(3)2,/29 cm. (4) J2g em.
88. The numerical values of the
wvolume and the area of the lat-
eral surface of a right circular
cone are equal. If the height
of the cone be h and radius be

1 1
r, the value of F*}.T“

1
13 @5

3
@7 @7
62+72 +87+9%+10°

0e- -J?+4J§-—J4+2J§

is equal to
(1) 330 (2) 305
(3) 355 (4) 366

97.1ftan A=ntan B and sin A =
m sin B, then the value of

cos?A is
2.1 241
m m
2
M @2
2 2_
m* +1 m--1
@ W

98. 300 grams of sugar solution
has 40% of sugar in it. How
much sugar should be added to

make it 50% in the solution?
(1) 40 gram (2] 10 gram
(3) 60 gram (4) 80 gram

speed of the boat in the still
water?

1
na Cl km/hour

1
(2) 6 2 km/hour

(3) 4 km/hour
(4) 8 km/hour

== ANSWERS BEV=
L] 2] 8@]| 403
8. 6] 7.13] 8(1)
8.3 | 10.(3)] 11.(3)] 12.(%
13.(1) | 14.(3)| 15.(2)| 16. (1)
17.(2)| 18.(3)| 10.(3)| 20.(3)
2L.(1) | 22.(1)| 23.(49)| 24.(2
25.(1) | 26.(3)| 27.01] 28.(1)
28.(1) | 30.(1)| 81.(4)| 32.(2)
33.(2) | 34.(4)| 35.(2)| 38.(4)
37.(4)| 38.(3)| 39.(3)| 40.(2)
4L.(1) | 42.(2)| 43.(4)| 44.(4)
45.(4) | 46.(2) | 47.(4)| 48.(2)
48.(1) | 50.(1)| 51.(2)| B2 (3
83.(4) | B4.(4)| 55 (2)| =8 (4)
87.(3) | 88.( | 88.(2)| 80.(4)
61.(2) | 62.(3)| 63.(3)| 64.(4)
65.(4) | 86.(1)| 67.(1)| 88.(3)
69.(1) | 70.(2)| 71.(2)| 72.(%
7303 | 74.(3)| 75.(1)| 78.(1)
T7.010 )| 78.(4)| 79.(1)| 80.(4)
8L.(2)| 82.(2)| 83.(1)| B4.(3
B5.(4) | 88.(4)| 87.(2)| 88.(4)
89.(2) | 80.(3)| 91.(1)| o2, (2
83.3) | 4.3 | 95.12)| 8e.(1)
B7.(4) | 88.(3)| oo, (2 | 100. (2)

N
e — BINMI —

————

R
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Ty
= p— i
= EXPLANATIONS xy = (12++143) (12-/143) _ 1200 _ .60 thousands it
1. (2) Sum of new numbers =144-143=1 Required years
=na+(2+4+8+16.....ton & 3x@-Bay+ 3Yf =327 -6ay + = 2012, 2013 and 2014
terms) 3+ xy 8. (2) Required percentage d,. I'
Now,5=2+4+8+16+.... =3 (x-yP +xy cTease -
to n terms
2 -125
Here, a = first term =2 =3 (2J138) +1 . [1—5"1—5—;-—] x 100 |
4 =1T716+1 L
r=mnmmnrnuu=5=2 #f;;;“lﬂi'l : 25 100 50 | A
- = — B —
It is a geometric series. 3, (2) Let the loans taken by A, 150 3 :
B and C be Rs. x, Rs. y and =16.7% _
i af™ -1) _ 22" -1) Rs. z respectively. 7. (3) Total production of typep | A
1 r-1 2-1 & x+y+z=Rs 7930 vechicles in 2009 and 2011 Ir
=2(2"-1) it Principal x Time x Rate =1ﬂﬂ+20£=3{ﬂﬂ1;;umdal "‘:
.~ Reguired average il = 100 Total production of type g ! -
to the question vehicles in 2010 and 2014
na +2 (2" -1) According to 16q =15ﬂ+225=3?5umu=m|
- n xx3xB . . HXIXT . Required percent
100 100
f 300 |
-] -
= +—w—l i zx4%5 =3?5:-ch0 80% =
100 8. (1) Total production of type? |
13 #4110 100 + 10x vehicles = 1200 thousands =
2. (1) x= Jis-di1 — o0 Total production of type § | &
\'ﬂlidﬂﬂ
On rationalising the denomi- _ 100y +15y _ 1002420z 175 + 150+ 195+ 175+ 17 B
ol =100 100 +225=1025
3 +411 J'IE+JI_1 = 110x=115y= 120z - Required ratio
= N3-d1 * 13 +41 = 22x=23y =24z =1200:1025=48:41 | =
(v13 +411) = 072 ~ 6072 - 6072 B .
= Z ,-—J” 2 [LCM of 22, 23 and 24 = 6072] © 275 \ sal
[:'13] d( 10. (3) Let the total distance b4t | In

13+11+24143
e
13-11

=m2‘+?ﬁﬁ =12+ Ji73

X, ol X
276 - 264 ~ 253

& Xx:y:z=276:264:253
Sum of terms of ratio
=276+ 264 + 253 =793

— ]

276
= A'sloan = e ® 7930

kam. alw
Distance
et i i Lou
Tm- S-chd la
According to the questioh )
=1
X 32X o =
10 ¥ 12 -
X oyEuy -
=36 " %
2x+bx 7 ¥
= " 20
= Tx=Tx20 :1
t
i ?“?2” =20 kon-
o
L Pﬂ-i:c:#!ﬂm’sﬂ =2

1 1
W rvw =Rs. 2760
& AN 4. (3) Here, the first divisor (361)
I 12-Jia3 ﬁgs}nmtﬂﬂplcufmnddwﬁw
= 124143 ¥ 12-1a3 * Required remainder = Re-
mainder obtained on dividing
12 - 143 - 12- JiE 47by 19=9
= 144-143 i 5. (1) Average production of type
P vehicl
s x-y=12+ flgz - 12 + oo
100 + 125+ 200 + 225 + 275 + 275
J143 #2.‘&43 and = &
e — STNE-822 —
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— —_— 3 ___|  SOIVED PAPER-36
11, 3 A 14. (3) B This part is filled by pipe B.
5
= Required ime = 75 x 8
D E 10 s
A "3 ol
BD =3 em
2 = ;:D:;:'Egn =3é hours
ﬂ »
o AB*4+ ACZ=T2 17. (2) In A ABC,
mrﬂam:;]hggié Area of quad- = AB® + AC? = 48 venrll) a=13cm., b=20cm., c=21 an.,
In & ABD
Area of A ABC = : A
i :rmrut‘ﬁ ADE = 8 AB*=AD® + 32 = AD*+ 9 ....[1)
InAADC
A ADE and A ABC, '
y: " AC*=AD?+ 16 B (11)] c b

i LD=£B LE=2C
i ~ AADE ~ AABC

i Area of A ABC ABE
“ Areaof AADE = 2p7

AEZ
= ond =2=AB= [z AD

= AB= fo (AB-DB]
= JoAB-AB= o DB
= AB (fz2-1)= Jz DB

DB 42-1
=?AB 37-2

12. (3) Here, selling prices are
same, Profit-loss percent are
same,

i In such transactions, there is
always loss.

-

DB

10x10
100
13. (1) tan® - cotd = 0
= tanf = cotd
= tanf = tan [’Qﬂ"—ﬂ}
= 0=90°-8
= 20 = op°
= f=45°

. tan{8 +15°)
" tan(8-15°)
. lan{45°415°)  tan60°
tan[45n_15a} - tﬁﬂﬂ'ﬂu
_ V3
4 ":}]: =J3x Ja=3
3

e

= 1%

meﬁn:ﬂnt:

____ _TeINE628

On adding equations (i) and
(ii1],

AB?+ AC*=AD?+9+AD*+ 16
= 49 =2AD* + 25

= 2AD?=49-25=24

= AP =12

ﬂﬂ.ﬂ' = ,JE — 21"_3- CITl.

158. (2) A's monthly income
= R=s. 8x
A's monthly expenditure
= Rs. Sy
B's monthly income = Rs. 5x
B's monthly expenditure
=Rs. 3y
According to the question,
8x- 5y = 12000 cenl)
Sx=- 3y= 10000 e (1)
By equation (i) x 3 - {if) x 5,
24x- 15y = 36000
D5x— 15y = 50000

- + _

—x==14000
= x= 14000
Difference between monthly
incomes of A and B = 8x- 5x
= Rs. Jx= RB- ['3 x lm]
= Rs. 42000

16. (4) Part of tank filled by pipes
A and B in 2 hours

e
=5[E+a]

4+3
=274 )~

7. B
Remainingpart=1- 7o = 7o

T
12

a+b+c
Semi-perimeter=5 = g T8

]

(13+2l}+21]
— 5 Jjom

54

=5 =27cm.

~ Area of AABC = Area of the
base of prism

= Jsls—alls-blis-c)
=.[27(27-13)(27 - 20)(27 - 21)
= J27x14%x7%6

= J3x3x3Ix2xTnTx2x3
=3x3x2x7 =126 8q. cm.

-~ Volume of prism = Area of base

18

# height
=126 x9 = 1134 cu. em.
3x-2y 5

-—

G 2573y = 5

= 18x- 12y =10x+15y
= Bx=27y
S 14

= y=T8

On taking cube root of both
sides,

ﬁ 27 a
?54;“5.




By componendo and divi- 1 R |8
denduo, = —
= BC :_Exlu,ﬁ qﬂnl[l"'lm]
H*ﬁusi-i B = 10 meire & Required time = 15 yeary
"ﬁx vgy - 3-2 " 1 Again, g
On squaring both sides, BC 24. (2) (A +BJ's 1 day's work = <
sin 30° = o 8
2
ﬁ+ﬁ] . t
=5 x5 =05 1 10 [H+C]alda}r'awnrk=~1—2.
[E-"'ﬁ = 2%

19. (3] Let the C.P. of each article = CD = 20 metre (A+B+C)s 1 day's work = l
be Rs. 100, - AB=BC +CD 8
. Marked price = Rs, 125 = (10 + 20) metre 1 A
On giving discount, = 30 metre : C's 1 day's work = 53
S.P.=Rs. 112.5 22. (1) Students in class A= x

. Discount Students inclass B = y 4-3 & =k
=125-112.5=Rs. 12.5 Students in class C = z T 24 24
2 For classes A and B, A's 1 day’s work
le., 12 2% 83x + 76y i 1, T4 lagy 1

20. (3) Volume of earth and stones x+y "8 12% 12 "u
taken out from the tunnel = 83x+ 76y ="79x+ 79y 5 (A+C)'s 1 day's work
=nrth = B3x- 79x=79y- 6y

1 1 2+1 1
22 = 4x=3y = T = —— = —
= szxzxﬁﬁ cu. metre For classes B and C i O
< Required tme = 8 days
= 704 cu. metre 76y + 85z - 81 28. (1) Sum borrowed = Present
Volume of ditch y+z worth of Rs. 17640 due 1 year
= (48 x 16.5 x 4) cu. metre = 76y+B5z=81y+8lz hence + Present worth of Rs.
= 3168 cu. metre = Sy=4z 17640 due 2 years hence
. Part of ditch filled s 20x=15y= 122
T04 2
= —— = = parts o 20k 8y . Me 17640 17640
3168 8 B0 &0 60 " Rs 5 + 5 ]
21. (1) A L X_4_z [ 100 [ 100
3 478
i '
Required average =R3.[1?E40:?+17m“§x;]—’
83x3+76x 44855 4
C - it = Rs. (16800 + 16000)
" § = Rs. 32800
49 + + 42 a78
= B T
3 12 12 Lo 1"_2“2{2.1
B 103 metre P =815 - #
0 % 24 XE
AB = Telegraph post 5 koY =w=i_ﬁ:-—-*
AC = CD = bent part i i 100 1
BD = 10 /3 metre TOx24x8 T
3 R \° =W, = 12-9 por?
e 27. (1) Let the man buy in
tan 30° = Bn On cubing both sides, oranges. ali
g s C.P.of 15 aranges &
1 BC 03 - [1+..R'_] 40 200
= = _ 5 Rs.
= T3 = 1003 100 Rs.40= — x 15

STNE-624 e oo pusiSET




CE 3 B

.:- oo

i3

s

‘t%
Again. C.P.ofl 15 Oranges ai 5

L
ﬁll‘m-m'_ﬁ-ﬂlﬁ=nal 1B0

- Total C.P. = Rs, (200
= Rs. 380 e

5. P. of 30 oranges = PE._D % 30

=Rsg. 500
+ Profit = Rs. {500 - 380)
= 5. 120

120
2 Profit % = E ® 100
=31.58% = 32%

28, [1) 2|12 15,
2|8 8 8 Jm
3|3 4, 8 21
., 4 & 7T

o OM=2 x 2 3ndxaAxy
= 10048
Multiple of 1008 = 2016
4 Reguired number
= 20162000 =16=x
A Bumofdigits ol x=1+6=7
26, (1] Expression = {cot 41% . cot
48% . (oot 42° . oot 487 (oot
43 Ccol 477 . (cot 447 . cot
467 . ool 45°
=cot 41° ., tan (90° - 49% . cot
43", tan (90° - 487 . cot 43°.
tan (80" - 477 . cot 44" . tan
1507 - 467).1
= fcot 417, tan 417 [cot 42° .
tan 427 , [cot 43° , tan 437
lot 44° . tan 449 . 1 =1
[+ tan (20° - 8] = cotl;
tanf. cotid = 1]

18, 21

InaQBC .- OB =0C

A 20BC = 00D
 £BOC = 180* - 2 £0BC
In A OBD,

a1.

8

SOIVED PAPER-36
ﬂ_jnﬂl_t sublended by an arc at Let P alone do the work tn' x
t::;-:;'lftil twice to thal sub- days.,
at the elrcumference, According to the question,
F 1
" LBAC s — LBOC a  Bx7
b =" 80 "
1
= 3 180"~ 2 soBC) =3-:-%-%
x
= 80" - £ 0BC
g = x=10days
* £BAC + £OBC = 80° : Q'sl:la}fawwk
M x=asnd- beasd - [j) "
Y= acosth+ beind - [H) A5 R T 5-3 e
On squaring and adding both 6 10 30 15
the equations, R's 1 day's work
£+ = [asind - b cosd)* + 7 74 1

(o cosh + b sing)?
=@’ 5In"0 + b cos™l - 2ab sing
- co8fl + a® cos® + b sindD +
2ab aind . cosl
= a? (500 + cos™l + B leos™0 +
sn?d)
=i &+ bP

[+ 8in®) + cos'd = 1]
[2) C.P. of article = Bs. x flet)
S5.P. at 5% profii

105 | 21x
= Ra. [lﬂ{lj = Rs. 20
G
New C.P. of article = o
19x
=Rs. 5o
I'IDx 110
s.p. = Rs. |55 100
Eﬂf]
=Fs. | S0
Apcording to the question,
2lx 2!39.1'_2
20 T 200
210.x - 208x =2
. 200
— x= Ra, 400

1

: (@R 4OV 1 duy'swork = g

Fi
ig + RY's 1 day's work = =5

a6.

=80 15 T 80 " 20

- Time taken by B = 20 days
s Required answer = 20 - 10
= 10 days

- 41 HCF of numbers = 2]

s Numbers = 2lx and 21y
‘Where x and i are prime to
each other.

Haths of rumbers s [ ;1 §
& Largernumber =21 x4 = 84
[2) Aceording to the question,

604 308

{4} Total stall strength in the
office = 100 fet)

Females = 40

Males = 60

&0 = T

oo ~=28
Unmnarried fermealss 4p-28 =12
Unmarried males = 30
& Unmarried stafl
=30+ 12 =42
L. 42%

Marmied females =

£DBED = 4 OBC = 90" - £B0D
\_\_44%—?— _SIHE B2l /—————
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'87. (4) On adding equations (i) and (i), =0.018 cublcmetre "~ =%
4 1 = (0.018 x 1000} litres
B iﬂtﬂﬂ="§+?§ = 18 litres

44. (4) A
= 3+1 4
D = VB B
Clearly, 2
AP x BP = PD x PC R Te B
= B x6=PDx4 Agﬂl.n. b}' Eq‘l.'lﬂlil]'l’l {“] L. [1]1 AGBC = AACG = AAGH
Bx6 = Area of AGBC
= PD=—— =12 ocqm.. 1
4 2tanf = f3 - Bl 1
3-1 2 I
/) ol = = % 60 = 20 sq.cm.
+ B 3
ﬁ/ \ 1 45. (4 E
5 Q = tanp = B - (4)
= < o sech. tand
PQ“ 1|I'A'B -[r]_-F;] o 1 g ﬁ D
= b 4 = =
=1|||13‘3_[11_5}2 :‘EI E 3 4
42. (2) Total distance
= 13252 = Jigo-25 =7 % 4 =28 km.
Total ime B F C

= J144 =12 cm.

38. (3) Circumference of the wheel
ofcar=nxd

22
=?x?n=22l:lcrn.

= Dislance covered in one ro-
tation

= Distance covered by car in
I minute = (400 x 220) cm.

- Distance covered by car in
1 hour = (400 x 220 x 60) cm.

mnxzzuxﬁnJ
=\ 1000x100

= 52.8 km.

. Speed of car = 52.8 kinph
40. (2) Percentage effect

20 x -20
Y O e
= [Zﬂ 0+ N ]%

== 4%
Negative sign shows decrease.
1
41. (1) secO - tanb = :E esasfi)

- sec-tan =1
= (sect) + tanf) (secH - tand) = 1

=+ SectH + tanf = qE ---u[ﬂ]

< A A
=10 720 " 30 " Gp hours
42421414 +7
= (0]

84 .7
= B0 urm'snﬁhuurs

" Average speed

] hours

_ Total dlatanct_ 28
~  Total ime -:{_
5

28x5
= "% =20kmph

43. (4) Volume of tank = (1.2)
cubic metre
= 1,728 cublec metre
~ 64 x Volume of 1 bucket

2x 1728
= _—3'— cublc metre

s Volume of 1 bucket -

Slant height =BE = |2 , &2

=144 +25 = J160 =13cm.
~ Lateral surface of pyramid
1
= 5 X perimeter of base x slant
height

1
= % 40 x 13 = 260 sq. cm.

Area of base = 10 x 10
= 100 sq. cm.
. Total surface area
= (260 + 100) sq. cm.
= 360 sq, cm.

48. (2) In 60 kg of alloy A,

ia:aﬂ:% % 60 = 36 kg

2
Tln:E x 60 = 24 kg.
In 100 kg of alloy B,

1
TIn:E x 100 = 20 kg

; [____1-';235’;2) hiciraive In 160 kg of new alloy,
& Tin = 24 + 20 = 44 kg
STNE-626 ==
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47. |4)5 cosb+ 12sinB =13

g _5.a

.. sin*@+cos’@=1

A : s0 :
' = — —_—
s &in 13 cosh = 1

48. (2)

A B

DC || AB
/DCA=ZCAB
£ZCDB = ZDBA
. ACOD ~ 4 AOB

Area of ACOD
Area of AAOB

w0 |/

Since tangents drawn from !
exterfor point to @ circle arc
equal in length-
s AP=AS

BP = BQ

CR=CQ

DR = D5

ding all thest
On adding all €' o pg

= ?+9.2-B~5+D‘°‘

=8.5+DA
= 16.2 S _7.7cm.

= DA = 16.2

fﬂﬂ'ﬂ-ﬂﬂ

B0. (1) In the school,

4
Boys=» 7 x 1554 = 888

3
Girls= = x 1554 = 666

After 30 days,

Girls = 666 + 30 = 696

If x boys leave the school,
then,

According to the question.

BB - x 1
696 B
BAB - x =

=T1e

= BBB-x=116x7 =812
= x::E-BE--Hlﬂ =76

1
B1. (2) Areaof triangle= x base
x height

1

uaxbxh

. According to the question,

1

':"hi“:_%

Ebeahn

h 4 _3

=b115=‘3

b 3 5_15

#h;nﬂ:lld.ﬂﬂ
EE.[H}.&:BsE:E

B:C=3:7

.A:B'C=E:3T

,ﬁ:ﬁhﬂ#ﬂkﬂ-—'?k

C+A=8k
: Rﬂ;i.lh'ﬂimrju:'-ﬁk:lﬂk:ﬂk

ELl

=5:10:9

1
83. (4) a- [g-3) =9

1
= (a-3)- (a-3 =2

On cubing both sides,

3
1
{[ﬂ -3]-———"{_:1__3}} =8

;2
= [a-ﬂl’—(ﬁ] =8+6

=14
54. (4) Let, 0.67=a and 0.33=D
a®-b®
;. Expression ={an +ﬂb+b‘1}

(@ - bila® +ab +b*)
=T aZ+ab+b?
=a-b=067-033 =0.34

B5. (2) 3% =(3%'°=(243 "

4'“‘ = E4¢]tn= tﬂﬁ,ﬁ]m
5% = (590 = (125)'°
6 = (6%)'° = (36)"

-, Largesi number = 4%

58. (4) Let the number of sides of
regular polygon be n.
According to the question,

(2n - 4] x 80° P aso” - 108
n n

(2n-4)x5 i{l_
n T

= 10n-20-20=6n

= 10n-6n=40

= 4n=4ﬂ=n=4ﬂ+4=lﬂ

=5 =6

587.(3) A D

B E F C

BC = 7xcm.
AD = 4x cm.
AB=DC:AE L BC;DF 1LBC

Area of trapezium ABCD

1
=-2-xLﬂi.D+BC]KAE

#
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1
= 176= 2 x‘llrxl—lxllx

= 176=11»"

176
==-x"'=:1—l-lﬁ

=x= [flg =4
» BC=7x4=28cm.
AD=4x4 =16 cm,

1
x EIE:FC:E{EB-IE]cm.
=6 cm.

» BF=16+6=22 cm.

2
= DF" ﬁ = 11x=2x
=8 cm.
1'1- Dhgm'ﬂlﬂn‘: JBFZ +m2
= 222 4 g2

= o484 + 64
= J548 = J1x137
EE-JI_BF ':m:

o8 ) [;.i]% .2 %3]%
-pre

=(p1-2 qz+z}%_,_ (pam q-aa]ﬁ

np‘-q"

1 1
= (pq*)3 + (P°a®)E =@
i
3,3
- 2% g
2_8 4.8
= p? 3 g33=pq
10
=p'qd =pqg
=5 4. b t_{]_
a - 3= 3
u+b——4+£-£
3 3

B88. (2) Let the capacity of each

glass be 1 litre.
On mixing all three mixtures
together,

2.3 4%
Acid = 5+t7+tg
126+ 135+140
- 315

401

“EE litre

3 .45
Water = 5+7 *yg
189+ 18B0+175
= 315
-+ Required ratio
401 544
315 315
=401 : 544
(4) C.P. of rice per kg

54 x 100
= "T Em-ﬁﬂ
For 20% profit,

S5.P. per kg,
60x120
= 100
61. (2) Five consecutive integers
are :
Xx+1, x+2, x+3andx+ 4
. Their average

_ 544
= 315

g

=Rs. 72

X+xtl+x+2+x+3+x4+4
=
5

Dx+10

= =x+2
New average

_Bx+10)+x+5+x+6
3 ]

Tx+21
= 7 =x+3

Difference =x+3-x-2=1
62. (3)
Volume of hemisphere
2
= 3 TR'cu. units
Volume of newphere

4
) %r'cu. units

|

STNE-g28

I

According to the q

2 4
5‘!‘:R"=4H Em‘“

= R=8r
= R = 2runits

- (3) Marked priceof oy «

A discount of 20% (g m
: Bﬂx
= lﬂ(}

300 =100
B0

= k=

= Rs. 375
~ Profit percent

405- 375
=(Tam ) x100=8%

(4) Total age of inital 308y
dents

= 14 years 4 months x 30
=430 years

Total age of 35 students

= 13 years 9 months x 35
= (455 + 26) years 3 months
= 481 years 3 months

~ Total age of 4 new student
= 48] years 3 months - 43
years — 9 years 11 months
= 48] years 3 months - 43
years 11 months

=41 years 4 months

. Required average
_ 41 years 4 months
L 1
= 10 years 4 months

(4) A
F
£ C
DE || BC
and E is the mid- pnlnl
_ .LM:
=9
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[i] 7 =7, Ti=49, 7"'!343.
74 =2401, 7° = 16807

1.8 after index 4, the unit's
digit s repeated.

. On dividing 153 by 4, re-
mainder = 1

A Ul'l-ft'ﬂ djgjt in ﬂ.'.ll: ﬂfpg_n_
sion of (2467)'* = 7' = 7 and
unit’s digit in the expansion
of (341)7 =1

s Required unit's digit
=Txl=T7

(1)

Diagonal of cube = Diameter
of sphere

=63 x2=12/3 cm.

1243
~ Edge of cube = _qlfi.!.._

= 12 cm.

:, Surface area of cube

=6 x (edge)?

={6x 12 x 12) 5q. cm.

= B64 sq. cm.

(3)a+ b= 1 (Given)
Expression = a* + b'—ab- [a®
- b2

=(a+ b [a*- ab+ b - ab- [@*= )
=|a*- ab + 1?) - ab- (a + b)*(a— bF
=¢*-ab+ - ab- (a®- 2ab + P

=@*-2ab+ P -a +2ab-0=0

w

(1) 7sin? + 3 cos™@ =4
On dividing both sides by
cos’f,

sin?g 3cos’@ 2
cos?9 = cos?®  cos O

= 7tan% + 3 = 4 sec’d

= 7tan% + 3 =4 (1 + tan®@)
= 7 tan® + 3 = 4 + 4 tan’0
= 7tan%-4 tan®8=4-3

= 3tan?p = 1 = tan* = 3

=tanu=:}5

70,

?ll

72,

(2) Volume of cylinder = xr*h

=(tx8x8x2) cu. cm.
=128 mecu. cm.

If the radius of the base of
cone be R em. then

1
E’ aR*H = 128n

= Rx6=128x3

126x3
6

= R= Jgq4 =Bem,

#an

(2) Side of rhombus
Perimeter _ 60
= 4 = 4 = 15 cm.
D [
8]
A B
d, = AC = 24 cm.
OC =12 cm.
CD =15 cm.
ZC0D =90°
o In AOCD,
oD = yJcp?-oc?
= Ji5?-12% = J225-144
= J8l =
=BD=2x9=18cm.
- Area of thombus

1
-%ﬁ%:i’x%xls

=216 sqg. cm.
1 1

(a+ —=b+ E=E+E
abc+c_abc+u
= " pe ~ ac
abc+b
= ab

c_a_b
s’sc-=ac=nb

bi A n8
=h c a
=¢ﬂ=b=ﬂ=1

. dé=l

‘73,

74

75.

=
sina

-
76. (1) _i_

(3) Let the work be completed
in x days.

According to the question.
.-":—--E =1

x x-58
R AT

6 © 32

Ex+3x-24+2x-12 -1
96

= 1lx-36=956

= 11x=96+36=-13:!

132
i T

{3) Let 5 kg of mixture be pre-

=

= 12 days

pared.

+ C.P. of 5 kg of mixture
=Rs. (2 %35+ 3 x 40)
=Rs. (70 + 120)

= Ra. 180

Total 8.P. of this mixture
= Rs. (46 + 4 x 55)
= Rs, (46 + 220) =

.. Profit per cent

[ 266 - 190
o 190

7600
="Jgp = 30%

(1) Expression
= (cosec a—sin d) (sec a—-cos a)
{tan a + cot a)

(otg-ane) (o]

sina - cosa
cosa sina

===k

sina +cos?a
cosa.sina

Rs. 266

]xlﬂﬂ

1-sin®a
= sina

cos?a i sinZa " 1
cosa cosasina
=1

¥ s
1

Xx +,xy+y

(x -y + xy +y?)

= x2+xy+y2 =5
= x-y=5 ----[i-]
Again,

it L ey



'1

i

OA’ = hunits
AA’ = H units

AB = R unilts
A'B’ = runits,
A'B'| AB

ZO0A'B = 20AB
Z0OB'A'= 2 0BA

S A OAB - A QAR
E..E EJBJ‘

OA - AB
h

=%

-
=

X
+h R

=

X =
&M B-1f=4a?,.g2 =4

[« ([@+ b - (a- b* = 4ab]
agmn.gﬂ-r=-4.ﬂ%.¢?l=—4

Expression

= (- - 1)+ - B + 1)

R 1) - L+ 1P (-9 + 1

=dpt-1 -4+ 1

=4 (- 1fl=4x4=16

(4) Cost of preduction of ar-
ticle = Rs. 100 (let)

- Marked price = Rs. 140
140 x 80
100 =Rs. 112
& Profit=112-100=Rs. 12
> When Profit = Rs. 12
Cost of production = Rs. 100
~ When profit = Rs, 48

Cost of production = '1122(—] x 48

SP =

= Rs. 400

I According to the question, 81. (2) Rate = R% per annym
Jn? 1 1 1 R
..\‘.'—y — - - ferey o =
am“h Euﬂ"u-l+m-3m‘h & Time = p Years
[x+yllx—y)
& + » 2 1 5.L x 100
y = gmrth= FaR (H+ N + Rate = B T
=2x+y=7 wene(ll) g
On adding equations (1) and (i), o R R 100
2x=12= x=6 R? h =TT "R
From equation (i), 12 2
x+y=T=y=7-6=1 -2 h]’=H;h 8% 200
L 2x_2x6 i il T
~ = R= J64 =8% peranny
77. Lz]uk;ge required distance =T 82 {21f+u’+z“-ay+yz+nm
e X :
_ H+h =X+ Y+ 2 - Xy -yz- 2=
leftr:ne&u:tlmt=?+5—l‘2 ="y =% = 2084217 + 22— -2y
2zx=0
minutes = = h
5 hour " _1‘1_{_1:%'5 = A+ 17 -2xy+ 1P+ 2-2
- h +x+ B -2zx=0
Time = “gpeed H ¥-1 = (x= gt + (Y- 2° + (z- 2 =0
==a-l_1—= 1 Y x-Yy=0=x=y
According to the question, " Yy-z=0=y=z
ML i3 E-x=0=z=x
. -y [fa*+ B+ & =0, then a=0,
78, [1],\?"’ aZ+g2 b-ﬂ.c=ﬂ]
1 i < Expression
Uy=a?-qg2 axt + 7yt + 524

= Ba?y? + Ty%2? + 3227
8 + 7x% 452
S5x* + 7x? +3x*
15x% y
15x% =
83. ()x- J3- /3 =0

= x= 3 +[2
Again,

y-J3+J2 =0
=y=J3-2

& x-y= G+g-5 0
=2J§
ﬂﬂﬂm=(‘r§+@["§'m

=3--2=1
. Expression

=x-207 - - 242

I
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AR = L

wﬂﬂm e e e neet SOIVED PAPER-36

:1‘-14" 222
=lx-!#’+3wlx-yl—22.5

,{ﬂﬁ]ﬂ +3(2V2) 22 ;3
=16J2 +6J2 -22 /3 =0

g4 (3)
R Meeting point.
p—> : «— 0
Speed of train starting from Q
= x kmph
- Speed of train starting from P
=[x+ E-]]:'-'Iﬂ'ph
According to the question,
PR+ R@ =PQ
= [x+8B)xB+xx6=162
[Distance = Speed x Time]
= Bx+ 48 + Bx= 162
= 12x=162-48=114

114 19

12 - 2

= X=

1
=E'£ kmph

(432 + 36 +3E=la+ b+’

= 3a2+ 3 +3F=a?+ P +C

+2ab + 2bc+ 2ac

= 32 + 312 + 3-@ - -2

-Dab- 2bc-2ac=0

= 20 + 2b* + 28~ 2ab - 2be-

2ﬂﬂ=l:|

= a*+ B -2ab+ b + ¢ - 2bc

+dt+-2ac=0

=(a-b*+(b-d*+ [c-aPr=0

= a-b=0=a=b
b-c=0=b=c
c—a=0=c=4a

L a=b=e¢

“l

4
88, (4) Volume of sphere = 3 ™

" Total volume of both spheres

4
=3nlt+ )

4
=3n(1%+69

4
=3l +216)

w

&

= (ﬂ b4 21?] cu. em
3 . CTML
If the internal radius of hol-
low sphere = rem, then
% Volume of the {ron of this

4
sphere = 3 7%~ r) cu.cm,

4 dn
3 B9 -r) = = x217

= 729-r =217

= P=729-217 =512

= r=(8p

=r=8cm

~ Required thickness
=9-r=9-8=1¢cm,

(2) Number of girls = 4x
Number of boys = 5x

*. Required average marks

4x x 854 5xxB7
= 4x +5x

340+ 435 775
{4)sin A+sin"fA=1
=»sin A= 1 - sin®A = cos®A

.. cos?A + cos'A
24 + [cos*A)
= cos?A + sin*A = 1
(2) Amount of cash payment

= 86.1

=F."h IITMiED

. (3)LCM of 5, 6, 7 and 8 = 840

2|5 6 7. 8

5 3 7 4

[_(:M=2>:5x3x?:<4==840

number = 840x +

Bwhich is divisible by 9 for a
wialn!castva]ueufx.
Now,
B&Dx+3=95xx9+3x+3
3x+3.lsdjvisihlchjr9fﬂrx-2
. Required number = 840 x
2+3
=13&U+3=1533
gumofdigits=1+6+8+3
=18

g1. (1) Expression
5
1

14—
3+ E+1

4

B = 4-_-————5——'-

5774
2]

5 : 5
g =1"31+9
31 31

Exal 160-155
e 40

5 1
=30 "8
(2) Cost of production of
article = Rs. 100 {let)
+ 5P.=Rs. 133
Newumtu[producﬂun—l'\‘.s. 112
133=110

s 5P = 100
=Rs, 146.30

- Profit per cent

[146.3-1 12J i
= 112 o

34.3x100 3430
112 112

dﬂﬁ_m%
-8

93. (3)Ten's digit of original
number=x
. Unit's digit = 2x
s Number = 10x+ 2x= 12x
According to the question,

1 ;
3x-2= 8 12x

= 3x-2=2x%

= 3x-2x=2

= x=2

an Nl]mhm': lh’: 12!2':!2
=24

84. (3)

|
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SOIVED PAPER-36 | — : mmmm;
Nestndy
OA = OC = radius = m? - n? cos?A = sin?p
1 VA+2%x3x1= J3+14+2%3x] = m?- n? cos?A = 1 - coqty
OF LCD = rn,ﬂ—].iﬂgﬂ'miﬂ.-m.
. AE=EB=5ecm. = J[VB+1) =3 +1 = m? - 1 =(n- 1) cos?p
CF=FD=2cm. . by f -
?E:t::ém . J7+48 - J4+23 S 2
n .
OA? = AE? + OE? =2+ f5-J3-1=1 8. (3) In 300 gm of solution,
= OAZ =524+ 52 e (1 Again, 12 + 22 + ... + 102 300 % 40
e 10 10+ (20 +1) i A T
¥ + +
DCE = 22 + [J.’+ 3)2 -nn[l.u' = a Let xgl’n ﬂrﬂugﬂ.r h!! rﬂ.‘xﬂdl
s 524322924 (x4 32 According to the question,
= 25+ =44+x>+6x+9 10%11x21
- Bx=925-13=12 = A =385 120+x _ 1
300+x 2

= x=— =2 cm.

6
s DA2=25+x2=25+4=29

I'l'l' G& = JE mll

2. Diameterofdrcle =2 Jog an.
86. (2} Lateral surface of cone

h?4+r?
1
Its volume = 3 nreh

According to the question,

mr .,h.lﬂ 4o = Em‘“h

rh
hﬂ & TE = ?
On squaring both sides,

2 hﬂ-

!‘lzi-i'ﬂ‘:r

(1) JT+4J'3= = J?+2xﬂxﬁ

= Ja+3+2x2x3

= J(zhﬁf =24+ 3

12422 4 ..., + 52
5(5+11{10+1)
= 6

BxExll
-—~E—=55

1242248 4 ———+n?
_nin+l(2n+1)
i 6

. B2472482402410%
=385 - 55 =330

s Expression = E{:ﬂ = 330
97. @)tanA=ntan B

1
=&tBnB=H tan A

n

=cotB= vy

and, sin A= msin B
inB ‘l—

= sin -msma

m
sinA
++ cosec?B - cot?B = 1

= cosec B =

m? n*

= sn?A  tanip -1

m? n?cos? A

= Sn?A " sn?A

=1
mﬂ—nnmzﬂ

=
sin® A

=]

STNE-832

= 240 + 2x=300 + x
=+ 2x- x=300-240
= x= 60 gm.
a8. (3) Let A leave the work after;
days.
According to the question,

x x+25

30 Y a3 !

Bx +5x+ 125

180 =
= 1lx+125=180
= 11x=180-125
= 11lx=55

4

U

s —

11
100. (2} Rate downstream of boal

= 5 days

1
— 15
2x60

kmph

!?.xEEI
= =8 kmph

Rate upﬁtmam of boat
=5 kmph
*. Speed of boat in still ¥t

1
= (Rate downstream * Rt
upstream)

1 13

=3 [B+5) = —z-kaJh
1

=65 kmph ”

__________ﬁ




